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LF. ALIGNMENT ' With the wave switch in the ' g aximum reading is cbialned on the

adjust the test os

broadcast band and the gang
condenser set at. minimum,

cillator to 456 KU and connect the output of test

output meter. This adfustment may seem a little complicatsd but
is the easiest way to adjust the oscillater to' the emtenna. Return
tr 1400 KC and again go over the adjustments of this frequency

BROADCAST BAND
ALIGNMENT

oscillator or signal generator to the grid of the first detector tube
{6A8G) through a .05 or .1 mid. condenser, The ground on the test
oscillator can be connected to the chassis ground. Align all four
LF. trimmers to peck or maximum recding on the output meter.

Connect the output of the sig-
nal generator to the antenna
lead (blue} through a .0002
. mfd. mica condenser. Set the
gang condenser to minimum and the oscillater to 1730 XC and

~adjust the Broadcast “oscillator timmer” fo recelve this signal

Make no other adjustments at this frequency. Then set the genera-
tor to 1400 KC and tune in_this, signal by rolating the gang to 1400
on the dial. Adjust the Broadcast “entenna” frimmer ta a maximum
signal. Set the signal generator to 600 KC g:nd tune In the signal

- SHORT WAVE BAND

to be cerlain that they were not put slightly out of alignment when
adjustment was made at 600 KC.

The short wave band is ad-

ALIGNMENT justed by setting the genera-
tor to 16,000 KC and tun-

ing ni: the l::)qncxl.h &diust the “short wave .antenna” to give
marimum culput. ere is no variable low I Gl

condenser on this band, the sensitivity of the mvermth:xlddh;z
checked at 6000 KC to determine whether the circuits are in line
at this frequency. Should the receiver lack sensitivity at 6000 KC,
the antenna and oscillator coils, as well as the .004 mica padding
condenser, should be tested for defects as sometimes these com-
ponents become subject to mechanical or electrical injuries, despite

thelr rugged construction and liberal ratings. -
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